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I Semester B.H.M./B.C.A. Examination, November/December 2016
(Freshers and Repeaters) (CBCS)

(2014-15 and Onwards)
LANGUAGE SANSKRIT - I

Meghadutam, Grammar and Comprehension

Time : 3 Hours Max. Marks : 70

lnstructions : 1) Answer in SanskriUKannada/English.
2) Question No. l, V and Vl should be answered in Sanskrit only.

I qm*{q;ilfrg( I (10x1=10)

ioornd w$dddlqro:r udobo.
Select the correct answer.

1) Nfrrrdrcfio.rqq?
en) trorsrq[ edr) Eg*-rq{ E) lrsrqq {1 uq*-w1

e) oTfuqrq's $q{t: m.r fi epqt z

s{) q-mft eil) eps+-l E1 eevkfr tl .rq1q

3) mrkffq: efrt3i-f,sluqltyfue: ?

or) 5wfi: 3Tr) sTrn E) Yeq: {l r.}ffi
4) gfr{s term: tF: ?

a) zlfiT: edT) Wr: E) sTR: {) eq'

O qnrrre: s': ?

u; tdf,q: aT) rEqq: E; erffix' $l !gra:
6) afrittM?

30 qm{;r: 3dt) 6l-fit: E) qer*r: {1 fr+r:

A slq*{Ngfr*.r ?

o{) Etrtf,r BTD fd{trr E) qgqr {l err+qnr

8) {rq: {H: $rqqffiq* Z

er1 rrunatg BrD {rqFr+istg E) s.-+rq}g {y eeftmu\
P.T.O'
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9) ftfiT: ud' ft rrqft z

3{) U{ sdr) (g E) B*i {l ffi
. 10) {ffiuf$lc[; $; ?

:il) Fs-{: qD td{rirdF: E) E. : $) erg'

l!. trqi: vwir, sf,tfrsd I (271Q=20)

oJndt oa ddo add: ddfed w$dddludouo.
Answer any two of the following :

1) qfr{ftftvqerffiIq{ftiqi,f t+qga t

ersoddoo$ddrl o$d6r od &d r esrd #drddladot
Describe the path upto Alaka as directed by Yaksha.

e) mrfuqms *qr,tvr,*.ro,5-fr: stfErgiq }-q-*i fusa t

aogoaid *edd, ded, ae,r dredddlufrox, $uot' udoo:o.

Write an essay on the life, date and works of Kalidasa.

3) nq@ f{€rqnmiqddrri aoh g;lsa t

ai: efl dodd0_u drd dd rdddd:* d sd r r) o.

Describe the mountains mentioned in Meghadutam.

lll. xqrurt rtrdnT{3r{cTri F-f,r rrT.i fr{gd I (37aQ=12)

oln$cnddro dlJo& dqeddddierd;aa at ado:r.

Translate and explain any three of the following.

1) Tr$ft' qfrmrsni rtftqro' wr tET:

q*vncri: H reffi{fr: ffiFt: vnpftfl; I

@Tflffiiqqri
smatft@tt

2) u;dkflqi Hqfr TR'i ffiq+q frqnr'

Efxitarffit
q<[arT t ogr*roor qrq qrt{wn

ffidarrqttt

4'a'
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3) Eqrqd tffift q@r+i,
mftR-,qdqrdqTffi: tr{qm: I

qq; {fttmEurg$T *rqrs-u qlai

ftfb-nnqr-Ea-e cffirfu ffior r r

+l

AfrRvrruH( gS *k{rmi tq{nnq r

{ilift1t gqftn ra {qFt"ri rri rrdrqi

tS: gutdnftrq fu: qrRsrcqn-stf,q tt

S) e]qqft*-meR Tr6rmrflq[{lrfl srd

Tarildi t qwftq"i qrdd&ft qr{: 
I

@tqfrq,rnrqfrt
sTrqqroTi $-eqkdai Hqst .rHR-m-{ tt

lV. Ed: qsq{ tcqga I (2x4=8)

cJnd oa ddo a dd: m{ rldd:",i o dq3 riad adot.

Annotate any two of the following.

t) qsffiqrrftri*xt 
t

2) yrQ flq) qeft frge: fr gadunH: r

3) EFrd t{ iq*sfr fcfUqT q r{mqqrfl' t

a) qrqr fiqr q$rfWr qr?TtreeIfirq; 
1
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v {q;arrTqqr w{TFr fuco t

iod^ddO en:dox,.u c, --,

Answer in Sanskrit.
' 

a) rT{Hi frlqf*iRnq-iTfr fr.so t

r1 wu)'
3) erkf,:

5) Eq<q

4 e+ft1

o; uar+i frsa t

1) l=o
3) 3TR

s1 er*tq

4tM

2) ir€irT:

a) iu:
6) qrd:

e) aqq

2) q{qTfr

4) E{qA

6) qqri

8) 3+{{'{
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(5x1=5)

(5x1=5)

u. Eq qH-i qkdr xl{HTq;-fl{rFr frso t (5x2=10)

ffi{,zfrq, }'t, qrqfi-r* qTRrL qH, {ra , gcwkor: qS{@TEr: itRrm:
fisr: sra *l-{asfr ffi r eifrfr{, qFqlqq-dTRemfiaEaffimfisrqlne

wrr{qTfr sKT q i?ffisrqi m.qTa( sTEFfr grdR I Aqi q?A

'qe.rqfl{A: ftsilqmr HffifErfi{A: gsqqpl' Efr ffiTef Ssfuff e+q *isl
#sipf {RTaH wruq wgr+r.i s-q-dqfr I 3fiq {flT: fisr: lrdr(.mR rtkm:
ftrBR q | frtEqqt mrqHg ffi5 q 3m-c{ mrd vrq-st t g{Ridrqi qmq

A{rql-q3{q-qq: q-dfrfr +5fu( ufir{* tr}g frar{fr-sT q ffi Efr g u$ue
{qr+[ r ersd fr-{rqe +lurqxffi: dil{T: figr, eft e.R t

]tFn :

1) fcffiqifigr' q;'t: ?

2) SretMsniyrgc{qdt r
3) ts*-{srifficr z

4) ffiqfrq-+oqfr z

5) {*ssrwifrqz


